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Algebra U7L5 - Parallel and Perpendicular Lines 

             
Warm Up… 

      
Today’s Goal: 

 KWBAT write the equation of a line that contains a given point and is parallel to or perpendicular to a 

given line 

 WHY?  This lesson covers Algebra standards A.2E and A.2F.  We already know quite a few things about parallel 

lines (they never intersect and they have the same slope!) but today we will be able to write equations of lines that 

are parallel or perpendicular 

Important Info: 

The slopes of Parallel 
Lines are __________ 

 

The slopes of Perpendicular Lines are 
 

__________________   ___________________ 
(change the sign)             (flip the fraction) 

 
*Perpendicular means the two lines form a 90ᵒ angle 

 

Examples: 

1. Write in slope-intercept form the equation of the 

line that is parallel to the line 𝑦 =  2𝑥 − 3 and passes 

through the point (5, 4). 

 

 

 

 

 

 

 

 

2. Write in slope-intercept form the equation of the 

line that is perpendicular to the line 𝑦 =  −4𝑥 + 10 

and passes through the point (7, 2). 

 

A.3C – real world linear funtions: 
 
 

 
 

A.2C – write equation from table or graph: 
Write an equation for the situation 
represented in the graph at the bottom of 
this box 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

Recent Review: 
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Write in slope-intercept form the equation of the line that is perpendicular to the given line and passes through 

the given point 

 

5.   𝑦 =  
2

5
𝑥 − 3 and (2, -3) 
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